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1. The optical phenomenon that is

responsible for the propagation of light
signal through an optical fibre is

fa) - interference
{b) scattering
{c) total internal reflection

{d) refraction

2. Which of the following statements about

optical microscope is/are correct?

1. Both the eyepiece and objective of a
microscope are convex lenses.

2. The magnification of a microscope
increases with increase in focal
length of the objective.

3. The magnification of a microscope
depends upon the length of the
microscope tube.

4. The eyepiece of a microscope is a
concave lens.

Select the correct answer using the code
given below.

(a) 1 and 3
fb) 3 only
fc) 3 and 4

{d 1, 2 and 4

3. Which one of the following gemstones

contains beryllium metal?
fa) Topaz

{b) Emerald

{(c) Ruby

(d) Blue sapphire

BTS-U-GHYT/S9A

4. Lowering the atmospheric pressure on a

liquid

(a} increases the boiling point of the
liquid

(b) lowers the boiling point of the liquid

{c) does not affect the boiling point of
the liquid

{d) increases the time required for it to
boil

5. The number of angular and radial nodes

for 4d orbital is respectively
fa) 2 and 1
{b) 1 and 2
fc) 3 and 1

(d) 4 and O

6. Which one of the following statements

about proteins in mammalian cells is
correct?

fa) Proteins in mammalian cells are
synthesized in cell membrane.

(b) Proteins in mammalian cells are
not synthesized in cell membrane
but directly absorbed from food.

(c) Proteins in mammalian cells are
synthesized in rough endoplasmic

reticulum.

(d) Proteins in mammalian cells are
synthesized in Golgi apparatus.

[ P.T.O.
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7. Which one of the following statements
about transport mechanism in plants is
correct?

{aq) Diffusion of ions and small
molecules across cell membrane
Tequires energy.

(b) Active transport of ions and small
molecules across cell membrane
against concentration gradient
requires energy.

fc) Cells conserve energy and no
energy is required for transport of
ions and small molecules against
concentration gradient.

(d) Cells do not transport ions across
thcir membrane as these are
charged molecules.

8. If the amplitude of oscillation of a simple
pendulum is very small, then its time
period of oscillation

1. depends on the length of the
pendulum, L

2. depends on the acceleration due to
gravity, g

3. depends upon the mass of the bob
of the pendulum, m

4. does not depend  upon  the
amplitude of the pendulum, A

Select the correct answer using the code
given below.

fa) 1, 2 and 3
(b) 1, 2 and 4
fc) 2,3 and 4

{d) 1 and 4 only

BTS-U-GHYT/S9A

9. The term LASER stands for

(a) Light Amplification by Stimulated
Emission of Radiation

(b) Light Amplification by Spontaneous
Emission of Radiation

fc) Light Amplification by Stimulated
Emission of Rays

(d) Light Amplification by Stimulated
Energy of Radiation

10. Which of the following statements about
carboxylic acids is/are correct?

1. Simple aliphatic carboxylic acids
are soluble in water.

2. Higher carboxylic acids are
practically insoluble in water.

3. The acidity of a carboxylic acid
depends on the number of carbon
atoms present in the hydrocarbon
chain.

Sclect the correct answer using the code
given below.

(aq) 1 and 2 only
{b) 2 and 3 only
{(c) 1 only

(d 1,2 and 3

[ PT.0.
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11. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT
(Compound) {(Type of polymer)
A. Melamine 1. Linear

B. Polyvinyl chloride

2. Condensation

C. Terylene 3. Natural
D. Cellulose 4. Cross-linked
Code :
() A B C D
3 2 1 4
(b) A B C D
4 1 2 3
fc) A B C D
3 1 2 4
{d A B C D
4 2 1 3

12. The Tropic of Cancer passes through
which one of the following countries?

fa)
{b)
{c)
(d)

North Sudan
Chad
Mali

Yemen

13. Gersoppa Falls is formed by which one of
the following rivers?

(a)
(b)
fc)
(d)

Lohit
Tungabhadra
Sharavati

Krishna

BTS-U-GHYT/S9A

14. Which one of the following processes is
not a part of long-wave radiation?

(a)
{b)
fc)
(@)

15. In mid-latitude regions,

Conduction
Scattering
Convection

Radiation

the diurnal

variation in weather is due to

(@)
(b)
(c)
(@

raising air/convection
sinking air/conduction
advection

radiation

16. Springs are common in which of the
following arcas?

13

2.
3
4.

Well jointed rocks

Arid areas with underlying rocks
Karst topography

Tilted strata

Select the correct answer using the code
given below.

(e 1 and 3 only

(b)

fc)

1, 3 and 4

2 and 4

{d) 3 and 4 only

[ P.T.O.
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17. Consider the following diagram :

An equilateral triangle is inscribed in a
circle of radius 1 unit. The area of the
shaded region, in square unit, is

) n 1
Phigrap™ < O 00
n 3 b1
@ 373 @ =

18. In an examination, 53% students passed
in Mathematics, 61% passed in Physics,
60% passed in Chemistry, 24% passed
in Mathematics and Physics, 35% in
Physics and Chemistry, 27% in
Mathematics and Chemistry and 5% in
none. The ratio of percentage of passes
in Mathematics and Chemistry but not
in Physics in relation to the percentage
of passes in Physics and Chemistry but
not in Mathematics is

(@ 7:5 (b) 5:7
fc) 4:5 (d 5:4

19. Consider the following diagrams :

14 | 36 mmﬁh.

25 |25 20 | 10 w { y
Which one of the following is the
missing number in the diagrams given

above?

(@ 1 b) 2

fe) 3 (d 4
BTS-U-GHYT/59A

20. Which one of the following is the area of a
sector of a circle of radius 10 cm formed
by an arc length of 15 cm?

fa) 10mn cm?
(b) 15ncm?
fc) 75 cm?

(d) 150 cm?

21. On simplification the product

(x; + y)lxy + Y3) ... (X190 + Yio)

how many such terms are there which
will have only single x and rest y's?

(a) 210
(b) 10
fc) 20

(d 1

22. Which one of the following statements
about blood elements is correct?

fa) Red blood cells’ number is same
as that of white blood cells and
platelets.

(b) The number of white blood cells is
more than red blood cells.

{c) The number of red blood cells is the
highest.

(d) The number of red blood cells is
lower than platelets.

[ P.T.O.
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23. Which one of the following statements
regarding muscle contraction and
relaxation is correct?

fa) 1t involves movement of Zn* * ion.
{b) It involves Ca'"' ion of blood.

c) 1t involves release of Ca®™ from
sarcoplasmic reticulum (SR) and
pumping Ca** back in SR.

(d) It involves exchange of Na and K.

24. Which one of the following statements
regarding digestion is correct?

fa) Fat present in the food is digested
by trypsin and chymotrypsin.

(b) Starch of food is digested by
lipases.

{c) Fat of food is digested by lipases.

(d) Nucleic acid is digested by
amylases.

25. Which one of the following statements is
correct?

{(a) In photosynthesis by green plants,
carbon dioxide is used for making
carbohydrate.

(b) During photosynthesis, plants use
oxygen for making carbohydrate.

{c) The carbohydrate generated by
plants comes from soil.

(d) The carbohydrate generated by
plants comes from urea.

BTS-U-GHYT/S9A
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26. Which one of the following statements
regarding insulin hormone is correct?

(a)

)

(c)

{d)

Insulin is a protein hormone which
is not produced in human body.

Insulin is a steroid hormone which
is produced in human body.

Insulin is a cholesterol-driven
hormone given to human.

Insulin is a protein hormone which
is produced in human body.

27. Match List-I with List-1I and select the
correct answer using the code given
below the Lists :

List-1 List-II
(Limestone region) {Country)
A. Pennines 1. France
B. Yucatan Peninsula 2. Jamaica
C. Cockpit Country 3. Britain
D. Causses 4. Mexico
Code :
fag A B &7 D
3 4 2 1
(b) A B C D
1 2 4 3
¢ A B C D
3 2 4 1
d A B C D
1 5 2 3

[ P.T.O.
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28. Which of the following cities experience 31. Arabian Sea records higher salinity than
the warm temperate Mediterranean the Bay of Bengal because
climate?

{a) Arabian Sea exhibits high rate of

1. Cape Town evaporation and low influx of fresh-

2. Los Angeles water
3. Adelaide {b) Arabian Sea has shallow water
4. Santiago :
(c) Arabian Sea has more enclosed
Select the correct answer using the code land
given below.

(d) Arabian Sea receives more rainfall
fa) 1 and 2 only

{p) 3 and 4 only

(¢c) 1, 2 and 3 only 32. At what time between 2 o'clock and
3 o’clock will the hour and minute
(@) 1,2,3and 4 hands of a clock be 12 minutes division

apart?

29. Which one of the following is the correct . :
descending order of Indian States in (@) 12 minutes past 2 o’clock
terms of their density of population (as (b) 18 minutes past 2 o’clock

per 2011 Census)?

fc) 24 minutes past 2 o’clock
fa) Bihar—Kerala—Uttar Pradesh

—West Bengal (d) 30 minutes past 2 o’clock
(b) West Bengal—Bihar—Kerala
—Uttar Pradesh
{c) Bihar—West Bengal—Kerala 33. If the number
—Uttar Pradesh
o Kol cWestip 1w 22 x 5% x45 x10® x 6! x 152
erala—West Bengal—Bihar
_UttsRiRad i x 81% x20'6 x 10'® x 2520
- - - - n -

30. Which one of the following major river 1; dl?;'ble, by ,10 tl,lthen “_"hmh on:] of
basins of India is the shortest in length tfc ?0 e A
and smallest in terms of catchment DRI

?

i (@) 78

fa) Cauvery
(b) 85

{b) Mahi 4

fc) Penner (c) 89

{d) Sabarmati ({d) 98

BTS-U-GHYT/S59A 13 [ P.T.O.
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mm%ﬁsmﬁmmﬁmwm
3 @t 24 g, aaﬁ?am-l-afam@é?ﬁﬁl
& 9l § gge # I ﬁs'm ™, & 9%
9-25 kg 91 TR Ui T fhaaT wof St
o w1 en?

(@) 1 kg (b) 2 kg

fc} 3 kg (d) 4 kg

36. IR w T fo, Rrdr w, Sl s

91 ¥9F 10 cm 2, ¥ FF-dis 1 otz o
A FEHA ¢, @ 10-5cm BN IR TH
iR f¥e § feaa ot 3w 27

(a) 4 & & il 38

(b) 4 Wit & SIfiR wig 4-5 fter &
(c) 45 &zt ¥ ¥fYs oy 5 efict @ 5=
(d) 5 i ¥ At

BTS-U-GHYT/59A

37. Tafufga 4 4 e =M w wam-fify e

e 27

(@) % /EraT 6 g

b) AR H Grgt

(c) &R

(d) sienm R frEn deags

38. A (Hma) el ¥ gay #, fefiRas sy §

q BH-8 397w &7
1. O Tedl H daiy e @ e e %
39 g it savgear 2t 2

2. o uedt F gfg ok fawm & R 9
1R 6 sEvaEa ad 2|

3. Wm ey glya o A @ &
RIS &l # 9 S 2

4. TE FeEfa, siem i FEER dve

wfta wft adim o=t & fdid 6 o 2
Hi9 Re e g2 o w@m = gl 3w gt
(@) Fa€ 1 K 2
(b) %ad 2, 3 A 4
() %=1, 334
d 1,2 334

39. fi=faflas 3 ¥ #-w1 @ gw @@ @i

& 27

(o) 3T niddh W 3T s gEaT
(b) TEW 3I3H Wfeqr Hem : SermH

fc) T SEfay™ e : wghl

(d) TER St STeRIRHt (F&aTer) : EeFarge
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34. Suppose a, b, ¢, d and e are five 37. Which one of the following sites does not

consecutive odd numbers in ascending
order. Consider the following
statements :

1. Their average is (a+4).

2. Their average is (b+2).

3. Their average is (e—4).

Which of the statements given above
is/are correct?

{a) 1 only

(b) 2 and 3 only

f¢) 1 and 3 only

{d 1,2 and 3

35. A king ordered to make a crown from

8 kg of gold and 2 kg of silver. The
goldsmith took away some amount of
gold and replaced it by an equal
amount of silver and the crown when
made, weighed 10 kg. The king knows

that under water gold loses 2—16th of

its weight, while silver loses Tlo-th. When

the crown was weighed under water, it
was 9-25 kg. How much gold was stolen
by the goldsmith?

fa) 1kg
fcg 3 kg

b) 2 kg
(d) 4 kg

36. If a cubical container of length, breadth

and height each of 10 cm can contain
exactly 1 litre of water, then a spherical
container of radius 10-5 cm can contain

(a) mot more than 4 litres of water

have coral reef formation?

fa) Gulf of Cambay/Khambhat
(b} Gulf of Mannar

{c) Lakshadweep

(d) Andaman and Nicobar Islands

38. Which of the following statements are

appropriate to Mangrove Sites?

1. Mangrove plants require
appropriate mix of saline water
and freshwater.

2.  Mangrove plants require mudflats
to enable it to grow and develop.

3. Mangrove plants are found in the
inter-tidal zones of sheltered
coasts.

4, Mangrove vegetation has been
reported in all the coastal States

including Andaman and Nicobar
Islands.

Select the correct answer using the code
given below.

fa) 1 and 2 only
() 2, 3 and 4 only
fcg 1, 3 and 4 only
@ 1,2, 3 and 4

39. Which one of the following pairs is not

correctly matched?

(a) Indira Gandhi Rashtriya
Uran Akademi : Fursatganj

(b) National Flying Training Institute :

(b) more than 4 litres but less than Belgaum
45 litres of water (c) National Institute of Hydrology :
(c) more than 4-5 litres but less than Roorkee

5 litres of water

(d) more than S litres of water

BTS-U-GHYT/59A
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{d) National Water Academy
(Headquarters) : Khadakwasla

[P.T.O.
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41

42.

43.
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ATHIE STl /3 foear T 27
(a) wHEAIHSA
(b) [eAHZA

(c) =rE AgHEH
(d) =vHEH

frafafaa 4 @ FF-3 semrR g/ Fe (30)
g E &7

(@) 3w Afafes

(b) WHIFAZ

(c) W A

(d) Fdt

g 100 A Qs #1 pEea s@ 6" ¥
farsy &, @ n (v fs) w1 7gaw HW
1 Em?

(a) 18 (6) 33

fc) 44 (d) 48
3 @t 10 fime m et 92t & 92 it g ofi
o=z 6 g & =fier =1 %o grar @

(@) 30° (b) 35°

(c) 37-5° (d) 40°

U Haiga aed § 65 =Afe I gul 4
il Sl B ok o # 9 SH-4-F W
w1 ¥ Jied 21 9 oftfSig 15 safE st sl
% died 8, 13 A 236 o snfx die g,
12 s %= ot soi7 ded € 3R 5 =fe
A1 st d dea # F90 ®9 | 30 ARE
A Al §d & 3R 30 Afe H9 e g
%1 3 el &t den e 2, I Faw
3T € dier T 87
@ 17

{c) 22

(b) 20
(d) 40

BTS-U-GHYT/59A

45.

47.

49 A

16

ﬂﬁ?ﬁﬁlﬂ72=mxn3,3ﬁm3ﬁtnm
Ui IR & fF l<m<nBi o m >

Tt dvifera = & wha #7
fa) S (b) 6
fcJ 10 (d) 12

. WA Y x, y, z @5 woHs quts 39 g §

F x<ysgz I xyz=72 21 S &
frafafaga oAt % @ sl-w s, wdfEm
X +y+z=S& & A AfUF g a1 87

fa) 13 (b) 14

(c) 15 (@) 16

1020 # 7 & fowifod =0 w = # @ -
T SEEA Y

fa) 1
fe) 4

) 2
(d ©

Feafafaa & 4 FF-a1 v ehis ey
w27

(a) =4

(b) @

(c) wnfes

(d) THfew (Fes)

Frafafaa # @ SF-w = g7 Tgos T 27
(a) TEAA

(b) DNA

(c) Gt

(d) [FeTER

o = A 9w = | 20 wiawa
sy Bt B, 32 T Fed 27

(a) F&q SER-M

(b) Y SER-NE

(c) 3y 3 i saw
(d) 2w iR 3d-2f= s|n
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40. The lowest temperature is observed/

recorded in which one of the following
layers of the atmosphere?

(@)
(b)
fc)
(@

Stratosphere
Mesosphere
Thermosphere

Troposphere

following ocean
currents is not a warm current?

(a) North Pacific
{b) Falkland
(c) North Equatorial

{d) Canary

42. What is the largest value for n (natural

number) such that 6" divides the
product of the first 100 natural
numbers?

(a) 18 (b) 33

fc) 44 {d) 48

43. The angle between the hour hand and

the minute hand of a clock at
10 minutes past 3 is

fa) 30° {b) 35°

(c) 37-5° (d) 40°

44. An international conference is attended

by 65 people. They all speak at least one
of English, French and German
language. Suppose 15 speak English
and French, 13 speak English and
German, 12 speak French and German
and 5 speak all the three languages. A
total of 30 people can speak German
and 30 can speak French. What is the
number of people who can speak only
English?
(@ 17

c) 22

b) 20
(@ 40

BTS-U-GHYT/59A

47.

50.

17

Suppose 72 = m xn, where m and n are
positive integers such that l<m<n.
How many possible values of m are
there?
(@ S
(c) 10

{b) 6
@ 12

Suppose x; y, z are three positive integers
such that x € y < z and xyz = 72. Which
one of the following values of S yields
more than oné solution to the equation
x+y+z=8?

(@ 13 (b) 14
fc) 15 (d) 16
Which one of the following is the
remainder when 1020 is divided by 7?
(@) 1 (b) 2
fc) 4 (d 6

Which one of the following is anisotropic
in nature?

(a) Glass
{p) Rubber
(c) Plastic
(d) Quartz

Which one of the following is not a
condensation polymer?

(@)
(b)
fc)
(d)

The tides whose height is 20 percent
more than normal tide are called

Nylon
DNA
Polythene
Bakelite

fa) spring tides

(b) neap tides

fc) apogean and perigean tides
(d) daily and semi-diurnal tides

[ P.T.O.
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51. IUEREHT THaa F an § Fefafas o=t i 53. Fr=fafad § @ #-a1 v sy vz T 27

q FH-A 7 &7

1. % F AEEPRl 9B W I i
forefia 2 21

2. Fifcifod 5@ A fremma @ R
IEEF Bt B

g 7 Ay &9 § 9f¥q aar ¥

4. W@ WA AR FaUR 9y =wm F ‘ufy
()’ frerftra =t o 21

A2 Ry g g2 1w aR @ I g
fa) a1 3R 2
(b) 1,23R4
(c) Faa 3 I 4
(d) 2,33R4

52. v fafdvwr aw wel (g @) F fww §

Ffafaa womt 3§ 3 S-m/a o 3/%

1. 39 fafaum o sl 6 gwam siwidn
T wEw @w (FOvEe g wi
AT A TR T Ay feds
H4fq IUCN) zra i w2

2. A fafiua av == B 6 TR 3
HFER itsfya faar 3 8y

3. wra #, gff ure iR ufinht Rmem 3=
fafaas & an wa #1

A9 fo g w2 w1 v @ oEd I g
(a) ¥ 1 2k 2

(b) 3 3

() 1,23R3

(d) Fae 1

BTS-U-GHYT/59A

(a) T2
(b) TEE
(c) @ial
(d) <ETE

54. Prfefiam § & - 7 ohm ) o

27

(@) e
(b) - HtwEm
(c) gmm
(d) Fradt

55. & WHAR fye ABC W fmR $fifse @ 5

frifera st & femn mn ¢
A

/\
c —5B

A =t & @ v & fig 4 ok B A wuwm:
30 km ¥fd 921 3R 20 km 34 521 H 9@
4 =@t 8, 3R By A ywelt w afomad
feen % w2 %1 3 gt an wH-g@ @ fch

(@) forg cm
(b) C3RA%FHa s fagw
() A3 BFHAuwsfagw
(d) frgAm
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51. Which of the following statements about

tropical cyclone are correct?

1. It originates and develops over
warm oceanic surface.

2. Presence of Coriolis force is

necessary for it.

3. It occurs in middle Ilatitudinal
region.

4. It develops ‘eye’ with calm and
descending air condition.

Select the correct answer using the code
given below.

(a) 1 and 2 only
() 1,2 and 4
(¢) 3 and 4 only
(d 2,3 and 4

52. Which of the following statements about

biodiversity hot spots is/are correct?

1. Biodiversity hot spots are identified
by the International Union for
Conservation of Nature and Natural
Resources (IUCN).

2. Biodiversity hot spots are defined
according to their vegetation.

3. In India, Eastern Ghats and
Western Himalaya are the
biodiversity hot spots.

Select the correct answer using the code
given below.

{a) 1 and 2 only
(b) 3 only

fc) 1,2 and 3
{d) 1 only

BTS-U-GHYT/59A

53. Which one of the following is not an

igneous rock?
{a) Granite
(b) Gneiss

{c) Pumice

(d) Basalt

54. Which one of the following rivers is west-

flowing?

(a) Godavari

{b) Periyar

fc) Tungabhadra

(@

Cauvery

55. Consider an equilateral triangle ABC as

19

given in the following diagram :
A

\

& o

Two people start at the same time from
points A and B with speeds 30 km per
hour and 20 km per hour respectively,
and move on the sides of the triangle in
the clockwise direction. They meet each
other for the first time at

{a) point C
{b) a point between C and A
(c) a point between A and B

(d) point A

[ P.T.O.

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In

56. 3 @3S 3R 2 wsfEE B w dfe § e
YR ¥ FHas fF s gwar & 5 2 el
- % FHAR (1Y-Qry) € ufen o @7

fa) 12
fb) 24
fc) 48

(d) 120

57. ©F =i A A AR Ik @ Hi 3wy =
FGTE 3:1 31 15 7§ g, A Ay W
FP@ 2:1 A NN W A N g
et 27

fa) 4548
(b) 40 T
(c) 3574
(d) 30 a4

58. 8 %< #i T W A @Y T w2 ¥ g1 @t
& SSTEE T AW 6 F2 B1 15 T2 A
TF W & 3 Rl A @it A A (R
¥ =t mar R) ot S I @Y A o
w1 98 W fea 2, s @i @ = @ @R
(3rem fRl) fomn vt 5wl F @7

fa) 6 %24+

(b) 6 %2 @ 3, fFg 7 gz @ 7m0
(c) 7 %2 iftes, g 8 Gz A =
(d) 8 %23 afis

BTS-U-GHYT/59A

R .

ffefes ave (8) wwarel § & wom &, =9 1 awn
T 0. I FE F wEeigdE whan S
iR A R T g2 F W W @ I ghw

%

(@) I FUF -3 TE § R w10
FYF 1 w1 T e ?

(b) FF FHA -3 TE §, By wu
11, %97 1 %1 |&l oqdiawr 74 2

fc) w7 1%E 2, g =97 11 1o 2

fd) %% 1 7cra g, foemg = 11 w8 2

59, %Y1

= q@ fafa § A e gwdt §)
YT

Y U fSeq-gradiy o ¥ ek ag feta
B A TR Tt 2

Y11 :

fea-uRr ya® aren AR s Wn eik
FEHH & FA 2
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56. The number of ways in which 3 boys and Directions :
2 girls can be arranged in a queue, given

The followin ht (8) i i f
that the 2 girls have to be next to each e oligwing: eig (8].Mems consist of WO

statements, Statement 1 and Statement II.

other;:is Examine these two statements carefully and
select the correct answer using the code given
{fa) 12
below.
(b} 24
Code :
fc) 48
{a) Both the statements are
(d) 120 individually true and Statement II
is the correct explanation of
. ; : Statement |
57. The ratio of ages of a man and his son is
RE e © o e smtemens e
A . & individually true but Statement II
(a) 45 years is not the correct explanation of
Statement I
{b) 40 years
{c) Statement ]l is true but Statement Il
{c) 35 years is false
(d) 30 years {d) Statement I is false but

Statement II is true

58. Two pillars are placed vertically 8 feet
apart. The height difference of the two 59. Statement I :
pillars is 6 feet. The two ends of a rope
of length 15 feet are tied to the tips of
the two pillars. The portion of the length
of the taller pillar that can be brought in Statement 1I :
contact with the rope without detaching
the rope from the pillars is

Sound waves can travel through
vacuum.

Light is an electromagnetic wave and
can travel through vacuum.

fa) less than 6 feet

60. Statement I :
(b) more than 6 feet but less than
7 feet A compass needle placed near a

current-carrying wire will get deflected.

(c) more than 7 feet but less than Statement II :

8 feet
A current-carrying wire creates
{d) more than 8 feet magnetic field around it.
BTS-U-GHYT/59A 21 2 [ P.T.O.

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

61.

62.

Download More Papers From GovtJobsAlert.In

Y4 ] ;

T ael F e (e = %)
RaEml & AR # sfoemaa siftma st
| AT 9 G B

ST 11 :

Hraaed A W9 UF Wihd 99 @ @
i 71 AW B €, forer o @ ¥er’

wgq 1 :

1856 # Fama aifsie et wie =Y, I9% &9 §
FUEH B4 & a5 |, T ¥ ITRS Ferwl
Fratfia =t foar mar an)

%94 11 :

T W3R AhwEm a3 Rd g
3R argeRerl W e 9 # srand ©)

Hgq 1 :

Heren it faftw aw g Ofta s
sfufnig F faams ARl A W 9 /)

FYq I :

91 A 1 IRV U H@gw faieE-new
F ®9 ° e o, fomd = =it & o
e Hial 6 dean ag = ot

Y4 I :

WTE H T @ ¥ G gedt w1 fatew
s faum-vee & faifya ae=d gr e
STaT 21

Y4 11 :

T 99 F S el Ts9 fRurmmwed @
Fraifaa € &, 3 38 dafte o2 & it
1 =ifzw)

BTS-U-GHYT/59A

65. Y41 :

et EEE (WEEE deie) dTa % W
ot o @ # fad & @grn ™)

SYAII ¢

1810 % 9R HN-TaH Fiwdi # e arh
fed amm & sl f 3w w hg
9 9371

66. FYT ] ;

2097 Waredt F My d ww TR W
aregitiey Al fawfa &8, frd widig deh
% | iy e =1 whT 91

AT ¢

T Argiey # yeta ok [Wdig ik @
THIHT 0 30 9% g w1 =wa 9
3 9E F 99 WET £

67. 194 o=l & wnv ¥ fftvereis wwa F
TR T & IR # fafafag s+ 8 @
FH-41/4 Tt 2/8?

1. TR A = % e g9 gdsts ad
F g0 +ft v e <t @)

2. 194 ya=Et & e <ol § mEmh
F i 7 AR e #® geE
feam)

2 fRw e f2 w1 WM W g 3w gy
fa) Faa 1

(b) ¥ 2

(c) 1 3R 22

(d A@1,3H 2
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61. Statement I :

For early societies, historians retrieve
information about elite families mostly
from inscriptions.

Statement II :

Satavahana inscriptions generally end
with the term Putra, a Prakrit word
meaning ‘son’.

62. Statement 1 :

In 1856, Nawab Wajid Ali Shah was
dethroned and exiled to Calcutta on
the plea that the region was being
misgoverned.

Statement II :

The Nawab was accused of being
unable to control the rebellious chiefs
and Talugdars.

63. Statement I :

Mahatma Gandhi went on a fast unto
death against the Communal Award
announced by the British Government.

Statement II :

The Poona Pact resulted in a joint
electorate with an enhanced number of
seats reserved for Depressed Classes.

64. Statement I :

In India, a majority of the members of
the Rajya Sabha are elected by the
elected members < of the State
Legislatures.

Statement Il :

Members of the Rajya Sabha elected by
the State Legislative Assemblies need
to have their domicile in the concerned
State.

BTS-U-GHYT/S59A

65.

66.

67.

Statement I :

The Permanent Settlement was rarely
extended to any region beyond Bengal.

Statement II :

After 1810, the agricultural prices
declined affecting adversely the income
of the Bengal Zamindars.

Statement I :
Towards  the beginning of the
20th century, a new hybrid

architectural style developed which
combined the Indian with the
European.

Statement 11 :

By integrating Indian and European
styles in public architecture, the
British wanted to prove that they were
legitimate rulers of India.

Which of the following statements about
town planning in British India in early
19th century is/are correct?

1. The funds for town improvement
were also raised through public
lotteries.

2. The threats of epidemics gave an
impetus to town planning in the
early decades of 19th century.

Select the correct answer using the code
given below.

fa) 1 only

(b} 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.
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68. Wa il Waaal & ¥R A fr=fafga w94 § 3 70. TafafEa # & fres wegy & fufen ara @9

FR-T1/8 T B/E7 %] HEUsT F17
1. 15 37, 1947 &I 4G $ @daal & (@) 363t dRvar T e
T 3 gu T F shvaiie weiam S TS
&1 Ty |iE ArEeE g7 # w6t fb) 741 WEUR wMA Afufam, 1956
2. 15 374, 1947 ) gl § g0 Iga) . ;
Y igon R T R & (c) 35al gfaum wism sfufem, 1974
(d) 5ai faus geam srfufes, 1955
9 fow T g w1 @ W FE I g
o et 71. foafafaa & @ w-w1 & fivfg, =@
& amfos § fgfe o W #
qd % e Amgfd ok =i ¥
(b) HaE 2 HAferemei-Hea $ e S WY g2 g 27
fa) FIETE TR AR @ T (R2)
fcj 1 3R 22Mi
(b) THe Gto THT FATH WRd = TFIfA
@ AR 1,2 (c) BT T TR RG99

(d) THo Mo =3 |ATH WG ¥4

69. Fi® # T ¥ e e g @ 72. Frafafea # @ e dfavm @i 3 @ %

vt e ar? A /T faum-veal ¥ sroam/|unfadl £
wiftwat 1 aga @ fohan 27
a) TS=% JG1=2 (a) 6137 weivA, foad waem w0 F g
21 af & geE 18 94 &
(b) #t=z2d (b) 524 Gylya & Toi-=ad fagd IvEy
() 423 WWMYR F oF IqEU] #1449
(c) eI TS g g Fre
(d) 7391 gueE, SEd d9Ea GE #
(d) FER 9ea =% Wiferal 9 6
BTS-U-GHYT/59A 24
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68. Which of the following statements about

India’s Independence is/are correct?

1. The formal transfer of power on
15th  August, 1947 heralding
India’s Independence was
announced by Lord Mountbatten.

2. Mahatma Gandhi was not present

at the festivities in the capital
on 15th August, 1947.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

{d) Neither 1 nor 2

69. Who among the following in Congress

represented the socialist view?

fa) Rajendra Prasad

{b) Narendra Dev

(c) Maulana Azad

(d) Sardar Patel

BTS-U-GHYT/59A
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Sikkim became an Associate State of the
Indian Union through

(a) the Constitution (36th Amendment)
Act, 1975

(b) the Constitution (7th Amendment)
Act, 1956

{c) the Constitution (35th Amendment)
Act, 1974

(d) ‘the Constitution (Sth Amendment)
Act, 1955

71. Which one of the following judgements is

associated with the primacy of the Chief
Justice of India and the Collegium of
Judges in the appointment and transfer
of the higher judiciary?

fa) Kesavananda Bharati vs. State of
Kerala

{b) S. P. Gupta vs. President of India
{c) Maneka Gandhi vs. Union of India

(d) S. R. Bommai vs. Union of India

72. Which one of the following Constitutional

Amendments has enormously
strengthened the powers of the
Speaker/Chairman of the Houses of the
Parliament/State Legislatures?

fa) 61st Amendment which reduced
the voting age from 21 to 18 yvears

(b) Anti-defection provisions of 52nd
Amendment

{c) Repealing of many of the provisions
of 42nd Amendment by 44th
Amendment

(d) 73rd Amendment that conferred
extensive powers on Panchayat
Bodies

[ P.T.O.
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73. wue &I fafafas ¥ @ feg afafa d osa w0

o =is geey 7€l Bar 87
(@) < @ giufa

(b) TEEH IuFHH GHfa (T Suwa-gadt
wafa)

(c) YTEER Qb

(d) Ta-faugs faym & dag wweft wfafa
(DRSC)

74. YA % BfAUA & 3g=e 371 #, Frfafaa &

¥ fra Tsg %1 3g| T A 27
(a) HEWE

(b) T W

c) T5d
(d) FAH

75. #§ 2018 #, frafafaa # & e ¥ 1 2

3UR (FfEz) fu s i = it 74 96 f
WM | RdE fiod 4 g A 1@ 917

(@) USId AT qF
(b) = d=
(c) VA 9% ATS sfean

(d) =u= &=

BTS-U-GHYT/59A

76. Wi e g (F3) WA B THYE w3

3R WEE F Aviey 33 (Feaee) ¥ fau
w4 franiter o man on?

(@) 2015
(b) 2016
(c) 2017

(d) 2018

77. ifa smm A e ofeeg @ Feafafea # @ 9.

Hag T 27

(a) SuHEA

(b) TEafd

(c) T % FEw

(d) €9 THEA & gEad

78. Tafafas & @ foem dmea (F=n) =t & Tt

oot de (rsen =W) wdiE ga@
AR wEFH (RYSK) # femn =
™ 37

(a) TE FaT % T (NYKS)

(b) F¥ TRH (YH)

{c) TE™ Fam qET (NSS)

(d) TEM F&1 A1 FEEA (NYLP)
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73. Which one of the following Committees of 76. When was Startup India Hub
the Parliament has no Members from operationalized to resolve queries and
the Rajya Sabha? handhold startups?

(a) Public Accounts Committee fa) 2015
(b) Committee on Public Undertakings (b) 2016
fc) Estimates Committee (e} 2017

(d) Departmentally Related Standing {d) 2018

Committee (DRSC) on Finance

77. Who among the following is not

associated to the Governing Council of
74. Which one of the following States NITI Aayog?

does not find a mention in Article 371

of the Constitution of India? @ The Prime Minister

{(a) Maharashtra (b) The President

(b) Madhya Pradesh (c) The Chief Ministers of States

() Gujarat (d) The Chief Ministers of Union
Territories

(d) Karnataka

78. Which one of the following organizations

75. In May 2018, which one of the following ;h‘;‘;‘e {;Z:S;& ;m; va rslewh E}Srella
banks was restricted from giving fresh ya Yuva Sasha aran

credit and new recruitment of staff by Karyakram (RYSK)'?

the Reserve Bank of India?
(@) Nehru Yuva Kendra Sangathan

(NYKS
(a) Punjab National Bank )

{b) Dena Bank (b) Youth Hostels (YH)

fc) National Service Scheme (NSS)
{c) Central Bank of India

{d) National Young Leaders
{d) Bandhan Bank Programme (NYLP)

BTS-U-GHYT/S9A 27 [ P.T.O.
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79. Fmafafiaa 4 @ fem 3o 3 2@ & 4 i@iPy 42

AT ¥ YARd FE $ AYE IJIE H
g w9 @ iftrgfea e 27

(@) ArdifE
(b) afefn
fc) Tefidia
(@) T

80. T @ fnd v @ § gl safy & forg <fw =1

wures Fratfae fmar mn 7
(a) o Hfwsm
(b) <t ffim
(c) am formsg
(d) #3 fw=am

81. ¥ ¥ G & 4 § F=fafen Fo 4 &

FH-a1/4 T /87

1. ‘R ® T WER TP e 30
geantaa 3 e o)

2. Tfo dto AURe IR I wHF FAl H
2epra A weau wiafa & Fwm & TR
Hard &)

1% fw e T T E A EE W g
(a) FEa 1

(b) a2

fc) 13 2<HE

d Id1,q9d2

BTS-U-GHYT/59A

82. WRd & Gfaum & =N § Fr=fafas sw=i & @

FH-91 TF FEt 87

(a) T femmw 1946 & R 1949 & &=
daw & o

(b) EfEam % STl g SH-gwe § 99 58
o |

(c) Tau & Gfaum =1 98 wiwan yoE B

(@) R 1949 # wEaw @ T F g«
‘e 98 0 T yatdd & i

83. T ¥ fFe o el F fawea & aR F

wdt feran 27

fa) |3EA TEA Hal
(b) =i <z SRIAE
{c) e |wEd

(d) “Fng i

84, TEWl @ ¥ an # feafafes w2 & @

H-ar/d ad /87

1. Tieg-awdl § sruwor EEYar T8 STt
2, 3 fr B & =d4i, g, f ol A
& gege 1

2. AR % geun w@ ¥ ot 36 Fwiv qedtw
H 3@ F o ™, St aftew zgen
Tl # W 6 TS ot

= Ry T F2 F Em HEE IW Y

fa) aa 1

(b) Had 2

(c) 1 3R 2aH

(@ a1, 382
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79. Which one of the following countries has 82. Which one of the following statements

recently formally notified its intention
to withdraw from the International
Criminal Court?

{a) Namibia
(b} Serbia
(c) Philippines

(d) Norway

80. Who among the following has recently

been elected as the Prime Minister of
China for a second term?

fa) Li Kegiang
(b) Xi Jinping
fc) Yang Xiaodu

(d) Zhou Qiang

81. Which of the following statements about

the Constitution of India is/are correct?

1. The “Objectives Resolution’ was
moved by Sardar Vallabhbhai Patel.

2. Dr. B. R. Ambedkar served as
the Chairman of the Drafting
Committee in his capacity as the
Law Minister.

Select the correct answer using the code
given below.

{a) 1 only
{b) 2 only
fc) Both 1 and 2

{d) Neither 1 nor 2

BTS-U-GHYT/59A

about the Constitution of India is
correct?

(a) 1t was framed between December
1946 and December 1949,

(b) The drafts of the Constitution were
discussed in public meetings.

fc) It is the shortest document of a
Constitution in the world.

{d) It came fully into operation
immediately after the drafting was
completed in December 1949,

83. Who among the following has not written

about partition in his works?

fa) Saadat Hasan Manto

(b) Bankim Chandra Chattopadhyay
(c) Bhisham Sahni

(d) Narendranath Mitra

84. Which of the following statements about

Harappa Civilization is/are correct?

1. There is the extraordinary
uniformity in artefacts as evident in
pottery, seals, bricks and weights.

2. The Ilate Harappa sites also
maintained the same construction
techniques as were used in mature
Harappa sites.

Select the correct answer using the code
given below.

@) 1 only

() 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.
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85, Saud % =R ¥ frafafaa wuEl # | @E-T1/3 88. 71 ¥ fru faerd 3 wd 2018 H, FwigE

wél /7 forre @ arwht fagfa it dreon $i?
1. ¥ # gad wewgl fem @ R () & @
gl fag woile 2, @ % & Tem (b) Mgk
TzF @ e & oft Sfe 21 (c) To o difaferad
2. W% § W oW g FA & fo (d) 3
FrrErR I G AEEE E
89. TE & % U U # fefafaa § @ F¥R-6 @
A3 g g g w1 A w3 G $-Frd (§-afia) s % @ a3 W
(@) Faa 1 (Fecerl) =t O spileht Tgueia e (g
EaE GEF), aileEe gu Iatsa
(b) FaA 2 7
(c) 132 2E CREILLSS
b) T
(@ TA@1, T2 o ¥
(d) ©uEa
86. T Al =K T TWl & Wy o & Frafated
# Q FF-w & I T gatea 87 90. f=feiaa # & fFa frew =it il 5w qory,
2018 F1 G448 %= fen F1 gEn o ™
a1 9™ QUAT AW =
(a) Torem afe fafedt : w@iics ) PR
(b) WeEl : UfrEn (b) e : T I B
(c) <reEaE : ATES (0 A
(@) =4
(@ Fra= : T
91. fr=fafiaa ¥ ¥ #-w @@ ¥9H fmmym |
87. seu =ifel, =i g &1 e fwen (geiw) dafi &7 ! .
TRl 2, WRa § ger w9 & fefatea | | (@ o o wEI, Wo TafERR, To AL,
fip 7t # Rt STl 87 , 3fte T
; (b) Fro IFEA, o Afgwm, Sfo afime,
g apaTen o
(b) w1 (c) ko URwE, Fo WA, To FFH,
o THo &
e (@) i SEdE, Ju SghE, TeE
(d) =T Frers, o Mg A
BTS-U-GHYT/S59A 30

Download More Papers From GovtJobsAlert.In


https://govtjobsalert.in/

Download More Papers From GovtJobsAlert.In

85. Which of the following statements about

Jainism is/are correct?

1. The most important idea in Jainism
is that the entire world is animated,
even stones, rocks and water have
life.

2. Asceticism and penance are
required to free oneself from the
cycle of Karma.

Select the correct answer using the code
given below.

fa) 1 only

{b) 2 only

fc) Both 1 and 2
(d) Neither 1 nor 2

86. Which one of the following pairs of

countries with new names and old
names is correctly matched?

New name Old name
(a) Kingdom of eSwatini : Swaziland
{b) Malawi : Rhodesia
fc) Botswana : Nyasaland
{d) Zimbabwe : Ceylon

87. In India, Indus Dolphin, one of the

world’s rarest mammals, is mainly
found in which one of the following
rivers?

(a) Ganga

(b) Cauvery

(c) Brahmaputra
{d) Beas

BTS-U-GHYT/S9A
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88. Who among the following cricketers

has announced his retirement from
international cricket in May 2018?

fa) Steve Smith

(b) David Warner
(c) AB de Villiers
{d) Shane Watson

89. In a recent deal, a large stake of which

one of the following e-commerce
companies was acquired by Walmart, an
American multinational retailer?

(a)  ShopClues
{b) Flipkart

{c)  Yepme

{d} Snapdeal

90. Which one of the following films was

awarded Best Feature Film in the
National Film Awards, 2018?

(a) Village Rockstars

(b) Toilet : Ek Prem Katha
{c) Newton

(d) Mom

91. Which one of the following groups

belongs to the same school of thought?

{a) J. J. Rousseau, M. Robespierre,
N. Bonaparte, O. Cromwell

{b) T. Jefferson, J. Madison,
G. Washington, Abraham Lincoln

fc) F. Engels, K. Marx, M. Bakunin,
J. S. Mill

fd) Georgi Plekhanov, Vera Zasulich,
Alexandra Kollontai, V. I. Lenin

[ P.T.O.
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92. TurEd ey (IgEfa aE W famm) wfufem, 94, f=fiflga & @ g o 3 ol &9 &
1996 (PESA) T W el 9N % 3w () f S
=& A7
(@ T FETEE] W WHE S WERE
) i st ¥ d (@) T SR
(b) ¥afE ST W S w wi (b) FER ST
AT LT & = o
fc) ::ﬁﬁ:lh:;m%;mﬁaﬁ:ﬁ@aéﬂ (@) G s
(@) T & ) < S gy, e 4 3 v o % S A
gdl sgg # wivw A 1§ e w1 Fd
I 27
93. frafufiga # ¥ fFT T 2NUEl Hawdl &1 FHIIH (a) redt, Siwof, g S gUwl
@ ¥ fou % @w i o= W i @Y
3% g7 (b) e, 35, Fivf i A

1. &= afaey fadas, 1959 o el R .

2. &% ¥ar amam (Fow) Bdgs, 1978
3. AR Faw fatms, 2002 (d) <wd, Bl Mg AR I
4. ufy ek, gEtE iR edErT
P 96. T & § FrefuRa # ¥ fra v @ wvE =
3 R T T2 w1 WA W A IR g (i wfial) ofifem 9@ 7@ @ &
ey mn?
(@ 1,2, 334 - e
(b) Fa= 3 34 i :
{c} WI,ZWS (© i
(d) %Had 2 o 4 (d) EH
BTS-U-GHYT/59A 32
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Provisions of the Panchayats
(Extension to the Scheduled Areas)
Act, 1996 (PESA)

(a) extends greater say to local tribal

94. Which one of the following Commissions

has not examined the issue of removal
of the Governor of a State?

fa) Sarkaria Commission

community over common resources
{b) provides greater devolution of (o T % A
powers to Scheduled Tribes
(c) Venkatachaliah Commission
fc) extends provisions of 73rd
Amendment to Scheduled Areas {d) Punchhi Commission
{d) brings Scheduled Areas under the

bettercontrol of oeal Panchayats 95. Which one of the following is the correct

combination of languages included in
the 8th Schedule of the Constitution of
India?
93. Over which of the following, the Lok
Sabha and the Rajya Sabha held joint
sittings to resolve their differences?

{a) Nepali, Konkani, Tulu and Santhali

(b) Santhali, Urdu, Konkani and

1. The Dowry Prohibition Bill, 1959

Maithili
2. The Banking Service Commission
(Repeal) Bill, 1978 (c) Santhali, Konkani, Bhojpuri and
Urd
3. The Prevention of Terrorism Bill, R
2002 : :
(d) Dogri, Konkani, Bhojpuri and Urdu
4, The Land Acquisition,
Rehabilitation and Resettlement
Act, 2013

96. Recently, the Armed Forces (Special
Powers) Act was completely removed

Select the correct answer using the code from which one of the following States?

given below.

fa) 1,2, 3 and 4 fa) Arunachal Pradesh
a s 4y an

{b) 3 and 4 only {b) Nagaland
fc) 1, 2 and 3 only (c) Meghalaya

{d) 2 and 4 only {d) Assam

BTS-U-GHYT/59A 33 [P.T.O.
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97. 1541 i SEEER R (viEen difen

wfiz) wd 2018 ¥ =gl aiftwa &t =t A7
(@) HITHT

b) TG

(c) ==t

(d)

98. WrE A @ 3 F WA FHe TR W Tt

FH g
(@) Tazeh wigerl (FTftrsa gamamEr) % e
(b) arforcdss a1, 99 7 AR fFat

(c) wE-uem (Jew-gfan) & fog BRd
W 3Ty FifvIeas ared

(d) Toregq am&w

99. W 2018 &, T ¥ # 92 T4 AN ;| #

ATl % yuEE & w9 § faita ge?
(a) Tafa e=ns o

(b) A WH

(c) VIR RighTa

(d) I SEfeH

100. 7 2018 ¥, Wi 3R AT F BA-Q S TUH

% a9 99 a1 AR 6l TR A7
(@) el AR gt

(b) P IR A

(c) STl S ST

(d) >FEen 3TN FAER

BTS-U-GHYT/S9A

101. © 2018 #, F=fafigs & & fvg 2w 3 TEw

¥ 3 @AM A9 EE ¥ Jwwew H
A (FgTata) fea 27

(a) T
(b) S
(c) iR
(@) TH

102. ¥ & F9 FE A U =1 47

(a) gl

(b) T

fc) =T

{d) wETgTafe Tt

103, Afteml ¥ s § Fafafes o 8 @

FH-|1/8 FE /€7

1. 3% U I Ay T % ¥ OH wEe
srar o1, e I wawt /@ o wiea
forn &1

2.. AR ‘Fream’ yW @ ¥ 7= fFw 9)

2 fiu e %2 1 W@ W Fd I g

(@) Fa 1

(b) F=E 2

(c) 1 2R 2gH

(d FI@1,782

104, TR T S IVRER gidwen % w9 F @0 | 7

& F g w1 e wEl fm e
(@) TSR

(b} WEEITH

(c) -

(d) wwadt
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97. 15th Asia Media Summit was hosted in 101. In May 2018, which one of the following
May 2018 in countries has relocated its embassy in
Israel from Tel Aviv to Jerusalem?
(a) Kolkata

{a) Iran
(b) New Delhi I —
{(c) Chennai (c) USA
{d} Bengaluru {d) Turkey

102. Who among the following was Buddha’s

98. In India, cars bearing black number plate foster mother?

with yellow lettering are

(a) ‘Purna
a) vehicl belongi to forei ‘alal ,
o conl:u?:tes o = GG R
{c) - Maya
{b) ;;x:nt:’:gal vehicles such as trucks i MW hapajapati Go y
fc) commercial vehicles available on 103. Which oi_' the following statements about
rent for self-driving Bodhisattas is/are correct?
. : 1. They were perceived as deeply
(d) eclectric vehicles compassionate beings who
accumulated merit through their
99. In May 2018, who among the following efforts.
was elected as the Prime Minister of 2. They made attempt to attain
Malaysia at the age of 92? Nibbana.
fa) Siti Hasmah Al Select the correct answer using the code
given below.
(b) Najib Razak
{fa) 1 only
ir Moh
fc) Mahathir Mohamad b} 3 anly

(d) Anwar Ibrahim (C) Both 1 and 2

(d) Neither 1 nor 2
100. In May 2018, bus service between which

two places of India and Nepal was 104. Depiction of the descent of the river
launched? Ganga from heaven in the form of relief
1 ?
(@) Nalanda and Lumbini RCUDR s Jon Ack As et
fa) Ellora
G d Kath
(2 hapsan mgndu () Mahabalipuram
(c) Varanasi and Vaktapur {c) Sanchi
(d) Ayodhya and Janakpur {d) Amaravati
BTS-U-GHYT/59A 35 [ P.T.O.
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105. Wd % wpdfa 6 @weE 23 ) Ot & 9w °

frafafas w9Al § 3 FH-91 ©F w6 7TE 27

(a) UEATd W EEE 1 A whE 2, 9 <
Nyg] TR TEH G G I fem
™ B

(b) Tl 3 Wit Wl § GEEH % ¥ 2,
o derw ©w Ty =T A

(c) = Ftas w Tgafa & fofg & d@Eg &
e # AaS REarsd @t Ui
=ga Hifa 21

(d) wgdfa zR0 g 23 it ufw T aiE
3, PR e o = & =fis
sy ¥ fwg woft ft w@m F
e gl

106. F=fafas # 8 yrda =agar sfufam, 1947

) srfirenefres fakm = 72 27

(@) ¥Wa * anfumer (Sfafam) = f,
aFgfram, ggdt dam, g ama R
NWFP I 312 Y Wd &1 &7 el b

() 3@ wtufem § ity Fac & fuch
=51 ¥ & dhuA fulfm F@ #@
AT T

) za wfufem & @ =3 eifatme 6
TIYT T T&d 91l

(d) s Sifafms 6 afauam qn F
o dfaym = 39 i sifiler @ R
Srditg wifeh = g (fean smn) o

BTS-U-GHYT/S9A
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107. W¥E 31 (NI) 9@ # 0 ema (PI) = e &9

T qiowriya e 27

(@) T AW — sfgaia o — qiErt 3/
frm T 32 =S PTaE — wEE o+
TER R FH g0 i@ & @

Ha

(b) TEY Y - fFaia a™ — FEE F +
TR R wE gW gRERl @ S
R UGIE

(c) et @ — gfErdt g frn man 32
S PTAH + BN 3R SA1 R IREnd
I ST A

(@) fEta ww — afErt g7 fe w2
T YA — FAHT

108. GFfa @ (3 &) A Andim fed &= 7@

fora war afenfia fear mr 87

(ag CU (=it g + f&H) + DD
(anforfres &=t gR1 T@ AT A ®iT SE)

(p) CU + DD + Sl a<d =i X a=d
i

{c) CU + DD + Ity d=1 it 32 grafy
aq‘ .

(d) CU + DD + aJIfuifcaa i it 32 |raiy
ST + SEHERI Sl FA S
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105. Which one of the following statements
relating to the power of the President of
India to grant pardon is not correct?

(a) The President has the power to
grant pardon where punishment or
sentence is by a Court Martial.

{b) The President can grant pardon in
all cases where the sentence is a
sentence of death.

fc) The Court’s power of judicial review
is very limited in relation to the
decision of the President on mercy
petition.

(d) The power to grant pardon by the
President is the power that the
sovereign never exercises against
its own judicial mandate.

106. Which one of the following is neot a
characteristic feature of the Indian
Independence Act, 1947?

fa) The Dominion of India got the
residuary territory of  India,
excluding the provinces of Sind,
Baluchistan, West Punjab, East
Bengal and NWFP.

fb) The Act sought to lay down a
Constitution by the Legislative will
of the British Parliament.

f¢) The Act proposed to set up two
independent Dominions.

{d) The Constituent Assembly of each
Dominion was to have unlimited
power to frame and adopt any
Constitution.

BTS-U-GHYT/59A

107. In National Income (NI) accounts,
Personal Income (Pl) is defined as

(a) NI - undistributed profits — net
interest payments made by
households -~ corporate tax +
transfer payments to the
households from the government
and firms

f6) NI = undistributed profits -
corporate tax + transfer payments
to the households from the
government and firms

{¢) undistributed profits — net interest
payments made by households +
transfer payments to the
households from the government
and firms

{d) undistributed profits — net interest
payments made by households -
corporate tax

108. The Reserve Bank of India defines narrow
money as

fa) CU (currency notes + coins) + DD
(net demand deposits held by
commercial banks)

() CU + DD + saving deposits with
post office savings banks

(¢ CU + DD + net time deposits of
commercial banks

(d CU + DD + net time deposits of
commercial banks + total deposits
of post offices

[ P.T.O.
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109. #rA @i % @ F Tm € 50 gfa fremm &

TG T75 W fremm @ W™ # wEh
IR ¥ I 6 ° 100 Framm | W=
50 freim ® T B 2mEl i w0 F AN

113. 39 199 Tare-mRivs 2041 yasd 4 S

Tl 1 w nht e e el &
an ¥ fefafea =9 8§ SwR-w/R
wdt /87

<ira P 3 & 7 &7 1. 3 Fowq § VR &z (1883) & =9
fa) 4 (o) 3 #, aq1fe wadst § & w off)
€ 2 (d) 1 2. I%M 1910 R 1913 & &= 3w
s AR AT (A0 wEEt) #:}
110. Fr=fafas 3§ A fras @y o frera @07 mﬁa%mﬁmﬁhM|
(@) 33m & fore 3=7 €imia w3
) T3 % fore Fr wimia vafa A1 fe g g2 1 wEm a3 I
F dimia
L .nqﬁr (a) Faa 1
(d) @=a % fo fre e wgfa
111. Frefafas § & 68/ wi@ 6 2w wa & (b) Fae 2
w9 § 91 S@T 87
1. 1A g aemr e (c) 1R 23IA
2. =g Fgen N & fau sgEuE
MR frF (R & D) (@ Ad1L,AE2
3. ¥ afE nfeam seEd
#= RRu m Fz & wa = EE W FH
(a) Faa 1

114. Yaiawia @awm & gatya Al = i Res

(b) &A@ 1 AR 2 wEn ¥ e wnfa W eha afve fFas
(e Fae 2 3R 3 afanta wentia foran man?
(@ 1,23R3

fa) 124 daadia deE
112. B=fafas avfee &= & @ Fes w49

WAl wdTed! % =1 qad gAY ) 114 et A

(a} STl

(b) WEE fc) 10t G=adiE FeE

(c) <=

(d) =3 (d) o d=ada F
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109. Suppose the price of mangoes increases 113. Which of the following statements about
from & 50 per kg to ¥ 75 per kg. Due to Binodini Dasi, a pioneering figure in
this, the demand for mangoes declines Bengali theatre in the late 19th-
from 100 kg to 50 kg. Which one of early 20th century, is/are correct?
the following is the price elasticity of
demand for mangoes? 1. She was one of the prime movers

behind the setting up of the Star
4 oy 3 Theatre (1883) ingCal;::utta.
fc) 2 (@ 1
2. She serialized her autobiography
110. Multipliers will be lower with which one Amar Katha (My Story) between
of the following? 1910 and 1913.
(@) High marginal propensity to
consumc Select the correct answer using the code
(b) Low marginal propensity to given below.
consume
{c) High marginal propensity to invest @ "1 only
(d)} Low marginal propensity to save

111. Which of the following is/are considered #) 2 only
as India’s green initiative(s)?

1. National Green Highways Mission (cj Both 1 and 2

2. R & D for Clean Coal Technologies

3. National Green Corridor fd) Neither 1 nor 2
Programme

Select the correct answer using the code
given below,

{a) 1 only

14. The Nati i :
(b)) 1 and 2 only 1 e National Green Tribunal, set up to

deal with the expeditious disposal

(c) 2 and 3 only of cases relating to environmental

(d 1,2 and 3 protection, was set up under the
112. Which one of the following commercial (a) 12th Five-Year Plan

centres declined after mid-eighteenth

century? :

(b) 11th Five-Year Plan

fa) Calcutta

(b) Madras (c) 10th Five-Year Plan

fc) Dhaka

{d) Bombay {d) 9th Five-Year Plan
BTS-U-GHYT/59A 39 | P.T.O.
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115. d=wdl ¥ gay # faafafen wu 3 @ FR-m

uF HEl A€ 87

(@) TEEE % weE €Y um B oEW g
wra 21

(b) FErEl ® TGl # SEeE T fRatE
e gra e s )

() g @R & F0 FE dEEs @
F-IME & foru miftipa = w1 2

(d) TErE TaEd I JUH qSF F AESH
# fafy | IEy F&F 99 94 9% FEA
Tt 21

116. Pofafaa 3 & =9-a fawa @ 2, @ 0=

Fdsg 3R =y 4 Aifa F FRes a= qE A
w1 firem B7

(a) Srw-wt H g

) Wi, 79 R F=sE fowE R
g

(c) T wmIR wepa 6 wye foad &
ufa T (sd)

(d) wew wiufaat =i deared

117. B=fafaa #§ @ FR-w1, 759 A fifa 5 fRv=

At &1 v fewm et 27
(@) @ AT foe wam e sl
(b) FTAUTeTR ¥ ~AEGICTR] &l YA

(c) EU-TAC S SEA-TR F I9% &g T
F FA

(d) AfE wEEEm - (E@WR), EiEa w6
Tagd awr aww (fegmn) iR guw
EIRtICE
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118. 3= S0 & @S 398 & T4 917

{a) fa 9
(b) #lo Mo T
{c) WEIHI e

(d) TS SEIR

119, g ug #fozm fAwa fea s § 27

fa) "
(b} Treh
fc) ¥iFHd

(d) T,

120. W4 2R sifE 6 g4 saed Pafafaa #

3 frg vee % Toama o= wfi A fim &7

(@) ¥ e (59 9a) # Ty 1 SfafieE
(b) REQ ATTREN

(c) ATl @t Fedt qorreh

{d) <& FTER
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115. Which one of the following statements 118. Who among the following was the author
with regard to Panchayats is not of Hind Swaraj?
correct?
fa) Members of Panchayats are elected fa) Aurobindo Ghose

7 directly by the Gram Sabha.
{b) The elections to Panchayats are ) C. R. Das

conducted by the State Election
Comrmmission.

{c¢) Mahatma Gandhi
fc) The Central Government may by
law authorize a Panchayat to levy

e {d) Rajendra Prasad

(d) Every Panchayat continues for five
years from the date of convening of
its first meeting. 119. The Buddhist text Majjhima Nikaya is in

116. Which one of the following concerns has fa) Sanskrit
found a place in both Fundamental
Duties and Directive Principles of State

Policy? 3 (b) Pali
a) Safeguard of public propert
fa) gu P property () Prakrit
{b) Protection and improvement - of
environment, forests and wildlife ;
{d) Telugu

{c) Respect for the rich heritage of our
composite culture

d) Promotion of ti ieti
(@FEromation: of coperAve S 120. The federal systems of India and the USA

are different in all the following
117. Which one of the following is net a part of respects, except

the Directive Principles of State Policy?

fa) Uniform Civil Code for all citizens {a) State’s representation in the Upper
{b) Separation of Judiciary from Hlouse

Executive
(c) Duty of the State to raise the level (b} ‘dual citizenship

of nutrition and standard of living

dual t f
{d) Promotion of scientific temper, (¢ dualsystonglh Comta

humanity and the spirit of inquiry
and reform (d) dual Government
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121. ¥Id & Uy $it 38 vt f6 9z fd o =5t 124, Fr=fafga 2o w fa=m Hifte .

Hiuftrg &y gAfder & e awa S g @ 1. ol
2, dfium # fee 9ovA & T o 6
3. ¥4
a) 44af goeae 4. ®H
-~ 2001-2015 #i & F M=, gF5a faiww
b} A g (GVA) & 9fd @91 &9 ¥ 37% 2w &
$o AR, IG®. <= ARE
] e R . M = o
(d) 3541 E@IEA (. 2, 3, 4
(b) 1, 3,4,2
l’ 2) ’
122, s e W P § @ R R W S
Ryt 33 % foru i 4 w8 7 (@ 1,3,2 4

(o) = wd TSAl % #i9 T F deAm 125. 3R W # et & @ oie Ry 9@ §,
@ 98 Fdegaen # @@l w fRE e

(b) YEEHE TR AT wifaa =m?
1. B 2w B e de gk b
fc) TsaaTEl it Fgfe fsft 3mitT @ swE
‘ 2w wm/E 4 v
(d) TEEf Td g & g s S U yNE

3. TSY W& TR ISl TR &
gt (Fefen-amee) we

123. 2011 I SFUAT F HIER, WK H T P .
fram s wd 7 snft off @ TR F R 4. m#%mmmi
SIS, TEE I g & Tem } A (FRfE-3) WE
(@) 20% 2 Ru v 52 #1 W w= wd Iw g
o (a) Fae 1, 2 3R 3

{b) 1,2, 334

€ 20 (c) %aa 3 3R 4

d) 60% (d) Fae 132
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121. The power of the President of India to
refer a matter back to the Council of
Ministers for reconsideration was
inserted in the Constitution by

fa)] 44th Amendment
fb) 42nd Amendment
fc) 43rd Amendment

{d) 35th Amendment

122. Ashok Mehta Committee was constituted
to make recommendations on which one
of the following issues?

(a) Division of tax revenues between
Centre and States

(b) Panchayati Raj System
{c} Appointment of Governors

(d) Presidential and Vice Presidential
elections

123. In India, approximately what percentage
of households still use firewood for
cooking as per 2011 Census?

(@) 20%
(b) 40%
(c) 50%

(d) 60%

BTS-U-GHYT/59A

124. Consider the following countries :

1. China
2. Spain
3. India
4. Russia

Which one of the following is the correct
ascending order of the above countries
in terms of their share of services sector
to Gross Value Added (GVA) during the
period 2001-2015?

(@ 1,2,3, 4
) 1,3, 4,2
{c)<AP2, 4, 3
d 1, 3,2, 4

125. If farmers’ loans are waived in India, how

will it affect the aggregate demand in the
economy?

1. Private consumption impact via
increase in private sector net
wealth

2. Public sector impact via changes in
government expenditure/taxes

3. Crowding-out impact via higher
borrowings by State Governments

4. Crowding-in impact via higher
credit availability as bank NPAs fall

Select the correct answer using the code
given below.

fa) 1, 2 and 3 only
(b) 1,2, 3 and 4
{c) 3 and 4 only
(d) 1 and 2 only

[ P.T.O.
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : BTS-U-GHYT Test Booklet Series

Serial No. 11303617

TEST BOOKLET

GENERAL ABILITY AND
INTELLIGENCE

Time Allowed : Two Hours Maximum Marks : 250

10.

INSTRUCTIONS

. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK

THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number

and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection,

You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 125 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
itern.

You have to mark all your responses ONLY on the separate Answer Sheet provided,
See directions in the Answer Sheet.

All items carry equal marks.

. Before you proceed to mark in the Answer Sheet the response to various items in the Test

Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate. :

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i} There are four altermatives for the answer to every question. For each question for which a
wrong answer has been g‘iven by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that

question.
(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question. @

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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